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Q.1 Which of the following has the ability to divide a process into sub-processes known as
threads and executes them concurrently?

Ans A. Multi-programming OS

B. Multitasking OS

C. Multithreading OS

D. Multiprocessing OS

Question Type : MCQ
Question ID : 120592751

Q.2 Which of the following statements is/are INCORRECT with respect to software in
computers?

A. When damaged it can be installed once more using a backup copy.
B. Software does not wear out, but it can be affected by bugs and glitches.

Ans A. Both A and B

B. Neither A nor B

C. Only B

D. Only A

Question Type : MCQ
Question ID : 120592738

Q.3 Which of the following is/are types of firewalls?

A. Network firewall
B. Host-based firewall

Ans A. Both A and B

B. Neither A nor B

C. Only B

D. Only A

Question Type : MCQ
Question ID : 120592749
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Q.4 Which of the following is the keyboard shortcut to play or pause media in Microsoft
PowerPoint 2013?

Ans A. Ctrl+Shift

B. Alt+Shift

C. Ctrl+Spacebar

D. Alt+Spacebar

Question Type : MCQ
Question ID : 120592747

Q.5 __________ View in Microsoft Word 2010 formats the user’s screen to make reading the
document more comfortable.

Ans A. Online Layout

B. Reading Layout

C. Web Layout

D. Normal Layout

Question Type : MCQ
Question ID : 120592743

Q.6 Which of the following characteristics of a computer helps it to give consistent results for
similar sets of data?

Ans A. Diligence

B. Storage

C. Reliability

D. Versatility

Question Type : MCQ
Question ID : 120592734

Q.7 ________ is a device used for conversion between analog signals and digital bits.

Ans A. Hub

B. Switcher

C. Modem

D. Gateway

Question Type : MCQ
Question ID : 120592748

Q.8 Which of the following is NOT a logical function performed by ALU?

Ans A. Greater than

B. Subtraction

C. Equal too

D. Less than

Question Type : MCQ
Question ID : 120592735
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Q.9 Which of the following is the keyboard shortcut to go to View tab in Microsoft Excel 2010?

Ans A. Alt+W

B. Alt+A

C. Ctrl+A

D. Ctrl+W

Question Type : MCQ
Question ID : 120592745

Q.10 Which of the following is NOT an example of software in computers?

Ans A. Hard drive

B. Windows 10

C. Adobe Photoshop

D. Google Chrome

Question Type : MCQ
Question ID : 120592740

Q.11 _______ View is used to show the final presentation with all the effects and colour schemes
in Microsoft PowerPoint.

Ans A. Slide show

B. Slide sorter

C. Normal

D. Outlines

Question Type : MCQ
Question ID : 120592746

Q.12 ISP, in the context of computing, stands for ___________.

Ans A. Integrated Service Provider

B. Internet Server Provider

C. Integrated Server Provider

D. Internet Service Provider

Question Type : MCQ
Question ID : 120592737

Q.13 What does the keyboard shortcut ‘Windows logo key + L’ in Windows 10 help the user to do?

Ans A. Open the Quick Link menu

B. Lock PC

C. Switch between open apps

D. Display/hide desktop

Question Type : MCQ
Question ID : 120592741
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Q.14 Which of the following is/are examples of CLI?

A. DOS
B. UNIX

Ans A. Only B

B. Both A and B

C. Neither A nor B

D. Only A

Question Type : MCQ
Question ID : 120592750

Q.15 Which of the following statements is/are correct with respect to hardware in computers?

A. Hardware is physical in nature and hence one can touch and see hardware.
B. When damaged, it can be replaced with a new component.

Ans A. Only B

B. Both A and B

C. Only A

D. Neither A nor B

Question Type : MCQ
Question ID : 120592739

Q.16 Which of the following statements is/are correct regarding types of computers?

A. Minicomputer is a multiuser computer capable of supporting up to hundreds of users
simultaneously.
B. PDA (Personal digital assistant) can function as a cellular phone, fax sender and personal
organiser.

Ans A. Only A

B. Only B

C. Both A and B

D. Neither A nor B

Question Type : MCQ
Question ID : 120592733

Q.17 Which of the following is/are NOT options available under ‘Paragraph formatting’ in
Microsoft Word 2010?

A. Font colour
B. Indentation
C. Alignment

Ans A. Only A

B. Only C

C. A, B and C

D. Only B

Question Type : MCQ
Question ID : 120592742
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Q.18 Formulas in Microsoft Excel 2010 must start with ________.

Ans A. # sign (hash sign)

B. * sign (asterisk sign)

C. + sign (plus sign)

D. = sign (equal to sign)

Question Type : MCQ
Question ID : 120592744

Q.19 What is the full form of HTTP in the context of computing?

Ans A. Hibernate Transmission Transfer Protocol

B. Hyper Text Transfer Protocol

C. Hyper Transmission Transfer Protocol

D. Hibernate Text Transfer Protocol

Question Type : MCQ
Question ID : 120592736

Q.20 Which component of an OS manages resources, controls program execution and schedules
program execution?

Ans A. Data driver

B. Shell

C. Device driver

D. Kernel

Question Type : MCQ
Question ID : 120592752
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